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The narrator says about Mrs. Ramsay that "you could not look at

4.

her without being struck by her modesty." Why is this important for

the story? Give information from the story to support your answer.

(15 points)
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At the end of George's second meeting with Mr. Cattanzara, Mr.

9.

Cattanzara says, "George, don't do what I did." What is Mr.

Cattanzara trying to tell George? Give information from the story to

support your answer.

(15 points)
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How do you think the time Roger spent with Mrs. Jones will influence him?
Thinking sKill I chOSe: ......ccceeviiiiiiiiiiiieceeceee

thinking skill when answering the question. (10 points for the content
of the answer, 5 points for the correct use of the thinking skill)

(15 points)
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PART III (15 points)

Answer the question for (16) The Road Not Taken OR (17) Introduction to Poetry OR
(18) Grandmother.

Suggested length: 60-80 words.

16.

17.

18.

THE ROAD NOT TAKEN / Robert Frost

"A wise man makes his own decisions, an ignorant man follows public opinion." —

Grantland Rice

Make a connection between the above quote and the poem. Give information from

the poem to support your answer.

INTRODUCTION TO POETRY / Billy Collins

Billy Collins started a program in American high schools with a very simple goal,
to introduce students to as much poetry as possible. This is how he explained his
program: "The idea would be to have high school students hear a poem every day,
so that the poem will be a part of their daily life and not something that's just taught.

I'm going to discourage teachers from teaching the poems."

Make a connection between the above information and the poem. Give information

from the poem to support your answer.

GRANDMOTHER / Sameeneh Shirazie

"When people talk, listen completely. Most people never listen." — Ernest

Hemingway

Make a connection between the above quote and the poem. Give information from

the poem to support your answer.
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APPENDIX TO PARTS I and II
Thinking Skills

e Comparing and contrasting

o Distinguishing different perspectives
o Explaining cause and effect

e Uncovering motives

e Inferring

o Explaining patterns
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